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1E P 0.06 0.05 0.06
FEAO 0.08 0.08 0.09

48 [YMCAFY)—T R EE 5 0.08 0.10 0.10 |7H23H
RE1-8-18 BYE 0.06 0.07 0.08
RIJKF 0.05 0.06 0.06
TS5 8— (XD 0.08 0.09 0.08
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&3 RSB AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm
Vi) 0.07 0.08 0.07
HEA H 0.08 0.08 0.09
MEL 0.07 0.08 0.09
TSR (1F) 0.05 0.06 0.05
TSR (2F) 0.05 0.06 0.06
49 [YMCAFvFIILO—MREER |[EES R 0.04 0.05 005 |7A23H
RE1-9-14-104 5 0.05 0.07 0.06
Vi) 0.07 0.08 0.08
EREA (1) 0.06 0.06 0.07
IKER A 15 (1) R HEATT) 0.06 0.07 0.07
ERE (R—JLAED) 0.05 0.05 0.05
IKER A 155 (R—JL I 0.05 0.06 0.07
b 0.07 0.07 0.07
50 |[OEHOYFYAA—TURE |XH 0.06 0.07 006 |7A23H
RE1-9-18-203 kO 0.05 0.04 0.06
Nhaz—h & (H7 0.05 0.06 0.05
= 0.04 0.05 0.04
Nhaz-h R FER 0.05 0.05 0.06
NaAz-B (1R 0.06 0.06 0.07
51 [F—HU—L—Lr)—_R7—RE |B LERE 0.09 0.10 0.10 |7H23H
WE2-3-17 3F & A A 0.08 0.08 0.08
b 0.04 0.05 0.05
= 0.05 0.04 0.06
52 [0EDLYFVXA—TUHHR |BEEF R 0.08 0.08 0.08 |7H23H
AB1-4-11 1F EETH# 0.07 0.07 0.10
eI 0.07 0.07 0.05
bi5 0.08 0.06 0.06
T—L 0.05 0.05 0.05
EREOFEPR 0.07 0.07 0.08
OmRIvh K —F 0.06 0.07 0.07
At-h-E15 0.05 0.05 0.06
Eiigis 0.07 0.07 0.07
53 |[0ELYFYRH—ToHEHOFE [BEET H 0.09 0.09 0.08 |7A23H
HBH1-4-20 $iE A A 0.07 0.08 0.10
bi5 0.07 0.06 0.06
eI 0.08 0.08 0.07
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T EZE ]

&5 AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm
Pt 0.06 0.06 0.06
RSUH (2F) 0.05 0.03 0.04
54 |HIEZREE Bk O (=) 0.06 0.07 009 |(7RA17H
F3E2-25-9 $iE A A 0.08 0.07 0.08
JEHEREER 0.10 0.09 0.12
kO (BL) 0.06 0.05 0.06
55 [7EUVREER ERES R 0.04 0.04 0.05 |7H20H
18E1-3-13 EEYH 0.06 0.05 0.05
(REEEE) HHBYET 0.04 0.04 0.04
AO—7®Y0O 0.05 0.05 0.06
EEEITH 0.06 0.06 0.07
EEEFR 0.06 0.07 0.08
INERER R 0.04 0.04 0.04
NEET H 0.06 0.06 0.09
REEPR(0ORER) 0.05 0.06 0.06
REEDPR(4-5ER) 0.03 0.04 0.04
56 (BET-FYREER BEAQO 0.08 0.07 008 |7A18H
8F2-6-2-102
57 |7z VB FHREER EA: | 0.07 0.06 008 |7A18H
EF4-13-18 EEREET 0.07 0.07 0.11
RE=E(2F) 0.04 0.04 0.03
RE=E(3F) 0.04 0.03 0.03
B 0.06 0.06 0.07
J55—(BL) 0.06 0.05 0.07
kO (BL) 0.05 0.06 0.06
58 [AE—TYRI—ILhHWLE | X 0.08 0.06 008 |7A18H
&F6-53-11 1.2 HREEZQF) 0.05 0.06 0.06
REE(ORR) 0.06 0.07 0.06
REEZORR) 0.06 0.05 0.06
50 |BFCCARER EA: | 0.08 0.08 008 |7H18H
B 7F9-34-1-140 TSR 0.06 0.07 0.09
15 0.08 0.07 0.08
RIKF 0.09 0.11 0.10
HEA A 0.10 0.10 0.13
kO 0.12 0.13 0.13
BE 0.08 0.08 0.09
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&3 HEEE T AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm

RE=E 0.05 0.05 0.06

60 | BFxHEREE ERES R 0.10 0.12 015 |7H18H
®F9-36-10 bi5 0.08 0.08 0.09
EREA 0.09 0.11 0.14
Fi/EE 0.11 0.12 0.18
BLEg 0.06 0.07 0.08
kO (BL) 0.07 0.07 0.09

61 |TEES EA| 0.04 0.04 006 |7H19H
KE3-8 HE2A F 0.07 0.06 0.08
ELEESR 0.06 0.06 0.05

62 |FXETRBE B 0.08 0.08 006 |7RA19H
t#b4-18-27 T528— 0.08 0.10 0.12
f8I;& 0.06 0.08 0.07
BYET 0.07 0.08 0.08
EEYTH 0.09 0.10 0.10
bi5 0.09 0.10 0.12
A0z 0.07 0.07 0.07
ERES R 0.06 0.09 0.10

63 | ETREE ERES R 0.08 0.10 009 |7H19H
LFP5-14-10 HE2A #+ 0.09 0.10 0.12
BYET 0.09 0.08 0.09
KE 0.08 0.09 0.10
b 0.08 0.07 0.08
K& 0.07 0.07 0.06
MKF (2FTFR) 0.08 0.08 0.09
BYE LR 0.07 0.07 0.09

64 [LELUREE EES R 0.06 0.05 005 |7H17H
REL6-2-16 kS 0.06 0.07 0.07
15 0.05 0.05 0.06
f8I;& 0.06 0.06 0.06
kO (2F) 0.05 0.06 0.06
TSR (3F) 0.04 0.04 0.06
Bt 0.05 0.06 0.09
BYET 0.05 0.06 0.06
tEAA (B L) 0.07 0.08 0.12

65 | ETREE B 0.06 0.05 006 |7A25H
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&3 HEEE T AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm

aRP3-10-8 =0 0.04 0.04 0.05
HEAHD 0.06 0.06 0.06
HEAHQ 0.07 0.06 0.08
HEIA AR (/A T {tik) 0.08 0.07 0.10
B 0.04 0.04 0.05
BekigE(BEL) 0.05 0.06 0.07

66 |/\IRRBE bi5 0.08 0.09 0.10 |7A25H
i 7-14-17 BYBT 0.07 0.09 0.10
KEDHEKE 0.06 0.06 0.06
EREDETE 0.08 0.08 0.07
ERES R 0.09 0.09 0.08
B[] 0.05 0.05 0.08
A H 0.08 0.10 0.12

67 |BEAIMNEHREER ERES R 0.06 0.07 0.07 |7H19H
BH3a[1—5—1—101 5 0.07 0.07 0.07
EREiEE 0.06 0.07 0.07
Pt 0.07 0.08 0.10
BEX 0.07 0.08 0.11
BYET 0.07 0.08 0.09
B[] 0.07 0.08 0.09

68 [{ERREE ERES R 0.05 0.05 0.05 |7H20H
18ix1-3-10 1 (1[) 0.06 0.06 0.06
Z 0.06 0.06 0.07
bi5 0.05 0.06 0.06
m/kiE (ERE) 0.07 0.09 0.10
BYET 0.06 0.07 0.07
B[] 0.06 0.06 0.07
RIKFA (BL) 0.05 0.07 0.07
M (EL) 0.06 0.08 0.09

69 |2MRBERE EEAO 0.08 0.06 0.07 |7R24H
2 M4-5-6-101 bi5 0.06 0.06 0.06
ERES R 0.06 0.06 0.06
IKER 15 0.06 0.07 0.07
FEEE GBY a1 0.08 0.08 0.08
REER 0.09 0.09 0.09
BB (REER) 0.09 0.09 0.10
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&3 HEEE T RSE Hh 5 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm

IF E X B 0.10 0.08 0.08

70 |HRRERE ERE (—FRE) 0.09 0.10 0.11 |7820H
#1 R 1-29-15-101 bi5 0.06 0.07 0.07
Pt 0.06 0.05 0.06
BYE 0.08 0.09 0.13
EES R 0.09 0.10 0.11
EEYTH 0.08 0.09 0.10
tEA A (ERE) 0.10 0.10 0.13
ek O (ERE) 0.07 0.08 0.12

| TFHRABERE bi5 0.05 0.07 007 |7RA17H
FH22-8 WA A (R RE) 0.07 0.08 0.09
HekO (ERE) 0.05 0.05 0.05
b 0.05 0.05 0.05
B 0.04 0.05 0.05
kO (BL) 0.07 0.09 0.11

72 RIGREE ERE (7015) 0.07 0.08 007 |(7A17H
1RiT1-8-10 ERE (BEkO) 0.06 0.08 0.05
E S5 0.07 0.05 0.08
ITARYET 0.05 0.07 0.13
HEA A 0.07 0.08 0.09
Bk O (XEH&) 0.07 0.06 0.07

3 | EFREBERE b 0.06 0.06 007 |7RA17H
EFI2-1-14 1E18 (X BIAT) 0.06 0.08 0.10
Bk O (XEHH&) 0.06 0.08 0.10
bi5 0.06 0.07 0.08
Hesk O (Aefal) 0.05 0.06 0.06
ek O GRAED 0.07 0.07 0.10
ERES R 0.07 0.07 0.08
BYET 0.07 0.09 0.09

74 | BFFEORTE EES R 0.07 0.07 006 |7H18H
8F4-21-13 bi5 0.07 0.08 0.07
BYET 0.08 0.08 0.07
EEZ 0.09 0.11 0.11
fBI:& (A O 0.07 0.08 0.08
e (EE) 0.08 0.09 0.09
878 (B REE) 0.07 0.07 0.07
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&3 HEEE T AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm

g (B&E%) 0.08 0.09 0.12
R (EEE) 0.09 0.10 0.12

75 | EmREZREE EA| 0.11 0.10 012 |7RA25H
b 2-3-1-101 TR 0.08 0.10 0.10
BEkiE 0.06 0.06 0.06
P 0.08 0.09 0.09
SATWT 0.07 0.07 0.08
BEE 0.09 0.08 0.10
15 0.08 0.09 0.10
HERAAQ (HEEANE) 0.09 0.11 0.15
HEA A (K HEE) 0.07 0.10 0.08
WA A (EEAAD 0.08 0.09 0.12

76 |FR KO REE RIKF 0.06 0.08 009 |7A25H
afb6-8-3 < 0.07 0.10 0.13
15 0.07 0.07 0.07
b 0.06 0.05 0.04
kO (1F) 0.07 0.07 0.10
MKFA (2FT5X) 0.05 0.07 0.10
TSR (2F) 0.08 0.09 0.10
b 0.07 0.07 0.08
kO (BL) 0.05 0.05 0.07

77 (R EE % B 0.06 0.06 0.04 |7RA25H
#EP3-3-11 xkE 0.05 0.05 0.05
EEYH 0.07 0.07 0.07
EES R 0.07 0.06 0.07
HEA A 0.09 0.06 0.07
X (wER) 0.07 0.06 0.05
15 0.07 0.06 0.06

78 [ o—\ Ly XBEA—TEE|%E 0.08 0.05 0.05 |7H26H
B 1-7-59UF 37-R1F T—IL% 0.08 0.10 0.11

79 |[XALHEZEE HE 0.09 0.09 012 |7H17H
A 56-7 KB (4Y) 0.07 0.05 0.05
FETCXEE 0.05 0.05 0.04
REE2RR 2F) 0.05 0.05 0.05
B 0.03 0.04 0.04

80 [JL—RBEZLELE X (41) 0.05 0.05 006 |(7A17H
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T EZE ]

&5 AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm
K155-8-3 ZE(R) 0.05 0.04 0.06
REEURR) 0.03 0.03 0.03
REEBRR) 0.04 0.03 0.03
REECRR) 0.04 0.05 0.04
AIE XE(4%) 0.08 0.08 0.09
AE XE(A) 0.07 0.07 0.08
AE REECERE) 0.06 0.06 0.07
81 |{REEH - REFXvABAREE |EEDH R 0.07 0.08 011 |7H26H
X B4-3-6 EREHKO 0.08 0.08 0.11
REE(ORR) 0.04 0.03 0.04
REE(RR) 0.04 0.04 0.03
REEQCRRLUL) 0.04 0.05 0.04
82 |VE—REtUA—EET (W5 0.08 0.08 012 |7RA25H
) 3-4-35 ERE (K ERR) 0.06 0.06 0.09
RE=E 0.04 0.04 0.05
HEA A (X EHH) 0.09 0.09 0.12
83 A TF- UL M1 EA: | 0.06 0.07 009 |7A25H
#EP3-4-43 TSR 0.06 0.08 0.1
TSI XA REZOFER) 0.05 0.05 0.06
84 (N\NBINTI—TREE X () 0.06 0.05 0.04 |7H26H
#FK453-1-15 ZBE(54) 0.06 0.04 0.05
85 |[RGY IL—TREE REEXEAT 0.05 0.08 0.07 |7H26H
H[52-1-20
86 |REfRHULE (Ei#) EAE: 0.05 0.04 005 |7H26H
£M5-6 Z 0.07 0.08 0.08
87 |REMRHULE (ZH) % 0.09 0.07 009 |7H26H
FH3-1 Z 0.09 0.09 0.08
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&S TREAT HRITE Hh R %ﬁ HAIE B e
[Figa:il 1 E1m |#2_E50cm| #h_E5cm
EHRFARRAESER (SHHES) XT— | [BREes
XI5 HE
1 [FASHE ERE (85 H1E) 0.07 0.07 006 |6A5H
Kig1—2—-2 BBz (1) - 0.06 0.06
ERE(TRYSEM) - 0.08 0.10
EE QA TLVE) - 0.08 0.10
ERE (Y15 RHEAH) - 0.09 0.08
BE(TALFYY) - 0.06 0.07
ERE (P R) 0.06 0.07 0.07
15 - 0.07 0.07
L (K< X) - 0.10 0.15
FHEVEET(FRKTR) - 0.08 0.08
2 (A HE &= RE At {81 A - 0.09 008 |6A7H
R52—1—14 EEMGEEE - 0.08 0.11
15 - 0.09 0.09
ERES R 0.06 0.05 0.05
BiEU 5 - 0.08 0.10
IMNUDEEH - 0.07 0.08
EEmEREAN—T - 0.10 0.08
E&AEAD - 0.08 0.09
E&IRARKTR - 0.08 0.09
EREZERRKTX - 0.07 0.07
EFt—T &/NMUDR 0.06 0.07 0.07
IE PRI (F38) 0.07 0.07 0.07
3 % H#E BEKENERARBERD - 0.07 007 |6A19H
FH2—9-12 BEKENERARBEED - 0.08 0.10 BEME
EREREAIT A - 0.08 0.10
TV L - 0.07 0.08 HekE
15 - 0.09 0.11
ERERAITEZAE) - 0.08 0.08 K&
EERAGELGEDELAM| - 0.08 0.08 k&
ERES R 0.08 0.08 0.08
ERE (& L(FIED 0.08 0.08 0.09
21l 0.07 0.08 0.07
= RE {81 P | - 0.08 0.09
4 |DIEHHHEER RRT(ELE) - 0.08 0.08 |6H13H
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&3 HEEE T AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm

m{E3—20—13—101 |E&ERAITELA - 0.06 0.07
ERES R 0.06 0.06 0.07
EREEILL(FEAD 0.08 0.09 0.14
15 - 0.09 0.08
ITARYET - 0.08 0.10
IF P9 AT 0.07 0.08 0.08
TARYEKIHER) - 0.09 0.09
E&a1(EIE) - 0.10 0.11
eI - 0.06 0.07

5 |TTnE$H#E Bl E (B2 D) 0.08 0.09 0.10 |6A12H
Hif4—9—17 a8 25 38 (152 ) 0.09 0.10 0.12
EREREAITEZA) - 0.09 0.09
1F E X B AT - 0.09 0.10
istEGRL) - 0.09 0.09
DIFYHET - 0.10 0.10
ERERET A& - 0.08 0.09
ERES R 0.06 0.06 0.06
15 - 0.06 0.06
ITS5oatDIRYHEDR - 0.10 0.10

6 |=iMshHEE IF P AT (B RE D - 0.07 008 |6A4H
EiNA—4—4 A& A P AT - 0.04 0.04
E& Al (HEA#H) - 0.06 0.06
E&mAl(EEPR) - 0.09 0.09
E&mal (BEKiE) - 0.06 0.06
EREREAI(RELY) - 0.07 0.07
ERES R 0.07 0.08 0.09
15 - 0.06 0.06

7 (RIS FEE 5 - 0.08 009 |6A1H
¥)I8B—4—1—101 EREY & (EVEHE) 0.07 0.06 0.06
ERES R 0.06 0.06 0.07
EREY & (BRI - 0.08 0.08
EREr Al (A H) - 0.10 0.08
DT IVD LE (TEE) - 0.09 0.11
SRR AiT (B RE ) - 0.08 0.11
fhistE (1e18) - 0.08 0.09
SRR AT (& 18) 0.08 0.08 0.11
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&3 HEEE T AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm
AL fBIFT AT (ZE A1) 0.09 0.10 0.12
8 |REH#E ERES R 0.05 0.04 003 |6A1H
REB1—11-1 bi5 - 0.05 0.04
BN 0.05 0.06 0.06
SOt - 0.06 0.06
1IF PR (FE1E) - 0.05 0.06
EIREAC Al (BEKiE) - 0.05 0.05
E&rml (feE) - 0.08 0.09
EE&m Al (BEKERD) - 0.06 0.08
B &3R8 (4822 #) - 0.08 0.09
IE PRI (F38) 0.07 0.08 0.09
9 [(BLEUHHE bi5 - 0.07 007 |6H5H
mAB1—-11-11 ERES R 0.07 0.07 0.07
tEA A (ERER) - 0.05 0.06
RAORT(EER) - 0.07 0.07
RAOBTEESD) - 0.07 0.07
E&>55 A0 - 0.07 0.08
ZEEERD - 0.05 0.06
HekiB(ERER) - 0.07 0.09
B[] - 0.08 0.08
10 | OEYHFHE ERES R 0.05 0.06 005 |6A1H
RE2—-4—1—-103 i5 - 0.07 0.08
EREra I (4H) - 0.06 0.05
FLE - 0.06 0.07
=R 34 (f238) - 0.07 0.08
TARYEHE 0.07 0.07 0.08
IF P AT (f817%) - 0.07 0.07
EREALAI (4EA ) - 0.07 0.09
T35 (KA H) - 0.07 0.09
IE PRI (F38) 0.06 0.07 0.08
" |E—EBFYHH#E EES R 0.08 0.10 0.13 |6814H
8F2—-5—7 bi5 - 0.12 0.13
ERERAIEL 0.08 0.09 0.08
ITARYET - 0.08 0.10 AIE
EREREAITEZA) - 0.10 0.13
griEEC N FERAAD - 0.11 0.14
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&3 HEEE T AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm
E&a1(EIE) - 0.07 0.09
ERERAIGEKE) - 0.08 0.09
SATWT - 0.09 0.08 AIE
N EIENESLED 0.08 0.09 0.09
12 |E_EFY#E K BERT(HEKE) - 0.08 008 |(6A21H
B8F6—36—1 ITRYETF 0.08 0.10 0.13
15 - 0.12 0.14
EES R 0.07 0.08 0.09
BESLAGER) - 0.09 0.12
RIKE I E8 - 0.08 0.11
IF P9 AT 0.07 0.07 0.08
BRI T (RDIRIT) - 0.09 0.11
FRLATGER) - 0.12 0.14
X EERTCGH) - 0.07 0.07
13 | KEHE EES R 0.09 0.10 011 |6A8H
XE5—38—1 iET 0.10 0.12 0.15
15 - 0.08 0.08
E&RIKEMKTR) - 0.08 0.07
TARYEEGER) - 0.11 0.12
eI - 0.07 0.08
RFFAT 0.09 0.09 0.12
)l 0.09 0.10 0.10
J52aF - 0.11 0.11 AIZ
TS atE(HER) - 0.10 0.10
= & I (4H) - 0.10 0.13
14 |E=KEHHE Edr—7 - 0.14 020 |6A8H
KXE7—39—2—101 AR LBEKE) - 0.07 0.08
amUtaEK#E) - 0.08 0.07
IE FRT(EEK#) 0.11 0.11 0.12
15 - 0.12 0.12
EES R 0.08 0.09 0.11
EEFI(SE) 0.11 0.11 0.10
73] 0.11 0.09 0.08
15 |3 A LHHE ERES R 0.06 0.07 008 |6A8H
KBE8—21—9—101 {LAHLDINEVEEAR)| 0.10 0.10 0.10
15 - 0.12 0.11
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&3 HEEE T AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm

EFr—7 - 0.09 0.10
BESL(HER) - 0.09 0.10
IF P9 AT 0.10 0.10 0.12
I5RIKE - 0.10 0.08
H£AHLDINELEEH) - 0.11 0.12
B OGER) 0.09 0.11 0.13
EE&mEAIEEKB - 0.09 0.11
EREFEAI(HER) - 0.13 0.14

16 | E AR ET S HEE ERES R 0.06 0.06 007 |6H18H
R’i7—-5—27 (OJEDL: 35 0.06 0.08 0.07
15 - 0.10 0.10
= = B4R () - 0.08 0.08
FLGEKTR) - 0.06 0.07
EREAEAIRKTR) - 0.08 0.09
ZEHEIFRK<R) - 0.08 0.08
E&mAlRkniRT) - 0.10 0.10
TARYET(RYM) - 0.10 0.10
ERERAIGEKE) - 0.10 0.10
IF P9 AT 0.10 0.12 0.14

17 | R #E (REE) BERR(GZE) 0.08 0.08 0.08 |6H15H
XE5—52—13 BREIXLGEKE) - 0.06 0.06
(IHXEm/NER) RS2 EALA - 0.05 0.05
BEILLED) - 0.04 0.04
BEER B - 0.04 0.05
15 - 0.05 0.04
B[] - 0.08 0.06
IF FHAT 0.06 0.07 0.09
B[] - 0.07 0.08
B RE (8R4 T) - 0.04 0.05
PRE(TRYEHE) - 0.04 0.06
o RE (Bbi5) - 0.05 0.06

18 | TLosh##E 1l 0.09 0.09 0.09 |6H20H
t#5—20—7—102 EEP R 0.09 0.09 0.09
15 - 0.08 0.07
BESH - 0.10 0.10
MDHEEFHEDRDT) - 0.08 0.11
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&3 HEEE T AT Hh 8 pSv/h BER |  EE
[Figa:il 1 E1m |#2_E50cm| #h_E5cm
WISEEEKE) - 0.11 0.10
TARYET(HER) - 0.11 0.10
izl ] 0.10 0.11 0.12
EREREAITEZA) - 0.13 0.15
AL FRIT(RIE) - 0.10 0.10
19 [/ KIS HE bi5 - 0.07 0.08 |6H20H
t#5—22—-10 IEFART(HEK#) - 0.06 0.07
KEHEFEKHE) - 0.06 0.06
FRAAIFTRT(BEKE) - 0.06 0.07
B REFEAI(HE KB - 0.09 0.07
E&E@EAIFEEL - 0.07 0.11
E&mEAIGE) 0.09 0.07 0.07
ERES R 0.07 0.05 0.05
7] 0.07 0.07 0.07
IE PR AT(SMED 0.07 0.08 0.07
20 |AEYHHE bi5 - 0.08 009 |6H21H
B#2—3—-3—101 ITARYET - 0.06 0.07
L& (RDRT) - 0.08 0.10
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164|FR =T Bk N E [RiZH R 0.12 0.13 015 |6H8H
B3 —8—2 HEAAA (LE) 0.12 0.13 0.14
mu7K#t (78) 0.13 0.18 0.20
165| & M E kL 0.07 0.08 0.09 |[5H29H
HiM3—2—1 BVE T Rk g 0.09 0.10 0.10
[RiZH R 0.07 0.08 0.08
LG DiEE 0.07 0.07 0.07
BREDODHTEL 0.08 0.08 0.11
166|& M¥ v Ti5 K& 0.07 0.08 008 |5A29H
HiM3—2—1 *v T T4 —D 0.08 0.08 0.09
kL 0.09 0.09 0.14
KNS 0.10 0.11 0.11
*roT5145F YA~ | 006 0.07 0.06
kL 0.07 0.09 0.10
XY TG 1B Y MH 0.08 0.09 0.09
REE
16778 RE#E [R5 R 0.09 0.10 0.10 |5A28H
AE3—3—16 HEAH (7)) 0.09 0.09 0.10
FI7K#t (Fp ) 0.09 0.09 0.11
FLE 0.08 0.07 0.08
IK R A 15 R 7K 14 0.10 0.10 0.12
168| H EHB R E 1EE [RiZH R 0.08 0.08 009 |5A29H
1 —18—1 tEZ A (F) 0.07 0.08 0.08
169|E_TERE®E G5k 0.07 0.07 0.08 |[5829H
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g2 —12—1 bi5 0.08 0.08 0.09
fEZ A (FE) 0.08 0.09 0.09
mu7k#t (7)) 0.08 0.08 0.09
BEHT 0.07 0.07 0.08
170[#TKBE=T B RE#E [RiZH R 0.03 0.05 0.06 |5H29H
#FRIE3—18—1 i5 0.06 0.06 0.08
fEZ A (AE) 0.07 0.07 0.07
Rk #t (FEER) 0.08 0.08 0.11
MBHT=ZTEE-REEE |LiHFPR 0.09 0.09 011 |5A29H
FF3—5—16 15 0.09 0.10 0.09
Wz A (F) 0.09 0.09 0.09
muzk#t (4E) 0.08 0.08 0.08
BEHT 0.08 0.09 0.10
1MBFT=Z=TEE_REHEE |LiHFPR 0.06 0.07 008 |5H31H
FF3—10—9 15 0.07 0.08 0.10
tEZ A (FE) 0.08 0.08 0.10
muzk#t (4E) 0.07 0.08 0.10
IBHFT=ZTEFLF=REHE |(LEFFR 0.08 0.09 0.10 |5A31H
FF3—13—1 HARAH (F) 0.11 0.11 0.12
174|BFR)IAE R E HEE [RiZH R 0.07 0.08 009 |5A31H
FF4—1—1 fEZ A A (FATE) 0.09 0.09 0.10
FIsK#t (dL7a) 0.09 0.10 0.11
175|FTHT B RE#EE [RiZH R 0.05 0.06 007 |5A31H
FF4—16—2 15 0.06 0.05 0.04
HEZAH (R) 0.07 0.09 0.10
muzk#t (4E) 0.07 0.07 0.07
;LRI 0.07 0.07 0.08
176|FTETEE_REHEE |LiGFHR 0.07 0.08 008 |5H31H
FF5—1—7 fEZ A A (FATE) 0.09 0.10 0.11
mu7k#t (AL3R) 0.08 0.08 0.07
177|FTETBRERE [RiZH R 0.06 0.07 008 |5A31H
FT5— 6—1 15 0.08 0.09 0.10
HEZAH (FAR) 0.08 0.10 0.17
muzk#t (4E) 0.08 0.10 0.11
178|*FF T B RE #EE [RiZH R 0.07 0.08 011 |5A28H
FFH2—8—2 bi5 0.07 0.08 0.08
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HEA H (78) 0.08 0.08 0.09
Rk 4 0.10 0.10 0.10
FLE 0.08 0.09 0.12
179|=3¥=T B RE#ZE [RiZH R 0.06 0.07 0.08 |5A28H
=1¥3—1—10 5 0.08 0.10 0.12
f#A A (BR) 0.09 0.09 0.10
Rk #t (FEER) 0.07 0.07 0.08
FLE 0.08 0.09 0.10
180| &5 AT R & i E [RiZH R 0.07 0.08 0.10 |5A28H
B 3—13—5 bi5 0.07 0.08 0.09
tEA A (ALEE) 0.08 0.08 0.09
Rk #t (Fp ) 0.08 0.08 0.08
181| K B)I'RE#EE R 0.07 0.06 005 |5A28H
KK 2—19—1 HEZ A A 0.09 0.11 0.15
Rk 4 0.09 0.09 0.10
182[iF)II—T B RE #EE whi5 0.08 0.08 0.10 |7H3H
&I — 3—10% R 0.08 0.10 0.10
kL 0.08 0.08 0.10
183 AE-T B RERKE R 0.07 0.07 007 |7H28
TRiG 2—14—4 bi5 0.09 0.09 0.10
Rk 4 0.08 0.08 0.08
HEZ A H 0.09 0.09 0.08
184| ARBREER eP S 0.08 0.09 009 |7H28
mHEEZE3I— 1—8 Rk 4 0.08 0.08 0.09
HEZ A H 0.08 0.09 0.10
185\ E—THREER ma7k 0.08 0.08 0.08 |5A28H
B B1—3—4 R 0.05 0.06 0.07
bi5 0.08 0.10 0.09
$iE Z A F 0.08 0.08 0.07
186|LEM IR E HEE NEFPR 0.05 0.05 005 |5A30H
18iRk2—18—3 HEZ A H 0.08 0.09 0.08
mut (F8) 0.07 0.07 0.06
mu7k#t (78) 0.09 0.09 0.09
18738 E—T B RE EE R 0.09 0.11 011 |7H28
18iR2— 26—4 bi5 0.07 0.07 0.08
Rk ¥4 0.10 0.12 0.18
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HEZ A H 0.08 0.08 0.08
188(4#% )1 4B 55 M R & iz E HEZ A H 0.07 0.07 009 |6A13H
BN —3—1 NEPR 0.07 0.07 0.08
Rk 4 0.08 0.08 0.11
189|Ei A RE #E K 0.09 0.08 007 |[6A11H
BIN—12—7 NEPR 0.05 0.06 0.06
15 0.07 0.06 0.06
HEZ A H 0.08 0.07 0.09
190\ )IERE =E ma7k 0.07 0.08 011 |6A13H
I —14—21 NEPR 0.07 0.06 0.08
HEZ A H 0.08 0.08 0.11
191(&R)IEE = REEE HEZ A H 0.08 0.07 009 |6A13H
¥2—18—2 NEPR 0.09 0.08 0.08
Rk ¥4 0.07 0.09 0.10
192|)EE = REHE ma7k 0.07 0.09 009 |6A13H
BIN2— 4—17 kL 0.08 0.08 0.10
HEZ A H 0.07 0.08 0.08
NEFPR 0.08 0.08 0.08
15 0.07 0.08 0.09
193|2 MU T B RE#E ma7k 0.07 0.06 007 |6A11H
EM4—10—1 HEZ A H 0.06 0.07 0.08
NEFPR 0.06 0.06 0.07
15 0.07 0.06 0.07
194 |BEAE R & i E A0 0.09 0.10 010 |[6A11H
BR1— 2—1 bi5 0.09 0.09 0.08
At & {8 0.07 0.08 0.09
195|F R R & E i5 0.08 0.07 008 |[6A11H
R 1— 18—1 HEZ A H 0.06 0.07 0.09
NEFPR 0.07 0.08 0.07
Rk 4 0.08 0.08 0.09
196 R T B RE#E ma7k 0.07 0.06 005 |(6A11H
MR 2—1—1 NEPR 0.05 0.05 0.06
HEZ A H 0.05 0.05 0.06
197|F R RE#E [RiZH R 0.11 0.12 012 |5A24H
FH1—-7—8 bi5 0.08 0.07 0.08
A A (FAE) 0.11 0.11 0.12
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Rk #t (FEER) 0.10 0.11 0.10
198|FH_TEBRE#E [RiZH R 0.08 0.08 0.08 |5A24H
FHR2—-3-25 bi5 0.08 0.08 0.07
HEA A (AE) 0.07 0.09 0.12
muzk#t (7)) 0.11 0.10 0.13
199| FH R EH#E EeP S 0.10 0.10 010 |6A15H
FH 20—5 bi5 0.07 0.07 0.08
HEZ A H 0.08 0.08 0.09
Rk 4 0.07 0.08 0.08
200|i@30 R & E iz 0.08 0.09 0.10 |[6A15H
80 5—14 oS 0.08 0.09 0.09
HEZ A H 0.09 0.09 0.09
201|mHE—TERERER [RiZH R 0.08 0.09 0.10 |5A24H
miE1—21—28 bi5 0.07 0.07 0.07
fEA A (AL E) 0.09 0.10 0.11
mu7k#t (78) 0.09 0.09 0.09
FLE 0.09 0.10 0.09
BER 0.07 0.08 0.08
202 3T IR E HEE IR0 0.08 0.08 0.08 |5A24H
BT1-15-93%5T1- 1-2. ZFT5-12-19 | )15 0.08 0.09 0.09
A A (FAE) 0.09 0.09 0.10
m7K#t (AL 3R) 0.07 0.08 0.08
203|/MAERR IR E iz E IR0 0.10 0.10 0.11 |5A24H
"I 1—5—18 15 0.10 0.09 0.09
fiE:A A (F) 0.09 0.09 0.11
m7K#t (AL3R) 0.10 0.10 0.10
;LRI 0.09 0.10 0.12
2045 —TEHRERE IR0 0.05 0.05 006 |5A24H
FE1—1-2 fEA A (AL E) 0.06 0.07 0.06
m7K#Ht () 0.06 0.07 0.07
205(;F /K45 R E HEE [RiEHI0 0.09 0.10 012 |5A24H
EF 2—13—43 fEA A (AL 78) 0.10 0.10 0.11
mu7K#t (F) 0.09 0.11 0.12
206|fit K¥EFE — REEE ma7k i 0.08 0.09 0.09 |6H28H
KB 2—21—1 5 0.09 0.09 0.09
eP S 0.07 0.08 0.09
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207\t RAEE — REEE R 0.06 0.06 0.07 |6H28H
Ki5 2—18—14 HEZ A H 0.08 0.08 0.08
kL 0.07 0.07 0.08
208| Rt RIEFE = REEE maZk i 0.08 0.08 0.09 |6H28H
Kig2— 2—1 R 3R 0.07 0.07 0.08
209|fit KR4GS U R & i E R 0.08 0.07 0.08 |6H28H
KiF2—7-20
210\ KI5 THREER R 3R 0.10 0.11 0.13 |6A28H
KiF 2—10—1% Rk 4 0.09 0.09 0.09
HEZ A H 0.10 0.10 0.12
bi5 0.07 0.07 0.08
ZEH 0.08 0.09 0.09
211|#E I R E i E R 3R 0.07 0.07 009 |7H3H
Ki% 3—13—8 5 0.09 0.09 0.10
HEZ A H 0.08 0.08 0.11
212[iRBE—REER mut 0.08 0.09 011 |5A25H
Kig 5—12—1 =27 0.07 0.08 0.09
HEZ A H 0.07 0.07 0.08
213[iRBBE_REER Bl 0.07 0.08 0.10 |5A25H
H% 3— 8—11 HEZ A A 0.09 0.09 0.11
mu#t 0.10 0.12 0.16
214\ KIZRT B RE 8 NEPR 0.06 0.07 0.07 |5A30H
Kiz 6—13—7 ;& 0.11 0.11 0.11
kL 0.11 0.11 0.11
HEZ A H 0.08 0.08 0.08
bi5 0.08 0.07 0.07
215|Ri5—TEEREREE NEPR 0.08 0.08 0.07 |5H30H
51— 1—4 mtt (L E) 0.10 0.11 0.10
fEZAH (R) 0.11 0.11 0.10
bi5 0.09 0.09 0.09
mu7k#t (7)) 0.11 0.11 0.10
216|Kf5—T B RERE NEPR 0.07 0.08 0.09 |5H30H
HfE1— 7—5 matt (L E) 0.09 0.09 0.08
HEZ A H 0.08 0.09 0.09
bi5 0.08 0.08 0.07
217|FREE — REEE NEPR 0.10 0.10 011 |5H30H
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HFZ 1—19—115% HE A A H 0.10 0.11 0.10
bi5 0.07 0.07 0.06
218|FREE — RERE NERR 0.09 0.10 0.10 |5A30H
RS 1—21—5 % & Z A A 0.08 0.08 0.09
bi5 0.06 0.06 0.07
kL 0.10 0.10 0.10
FI7K#t (Fp =) 0.09 0.08 0.08
219| K5 R E iEE Bl 0.08 0.08 009 |5A25H
HP53— 8—6 HEZ A A 0.08 0.09 0.09
Ryt 0.07 0.08 0.08
220|K[5MT B RERE Bl 0.08 0.09 009 |5A25H
Hi54— 4—9 HEZ AP 0.09 0.09 0.10
mu#t 0.10 0.09 0.09
JS ot 0.09 0.09 0.13
221|350 R E HEE Bl 0.10 0.10 013 |5A25H
Hf% 5— 5—10 HEZ A A 0.10 0.10 0.09
mu#t 0.11 0.12 0.13
222\ - SEREWE [R5 R 0.11 0.12 013 |[6812H
8F 2—21—13 Rk 4 0.13 0.14 0.15
HEZ A H 0.12 0.12 0.12
223|&8F=THRE&E HEZ A H 0.12 0.12 011 |6A12H
8F 3—12—10 Rk 4 0.12 0.12 0.12
[RiZH R 0.10 0.12 0.12
bi5 0.11 0.10 0.11
kL 0.11 0.11 0.10
24 8F=THE_RERE |k 0.10 0.10 0.10 |6A12H
8F 3—10—1 HEZ A H 0.09 0.10 0.11
[RiZHh R 0.06 0.07 0.07
225|8FMTHREER masK ¥ 0.11 0.12 013 |6A12H
B8F 4—16—9 [RiZH R 0.09 0.11 0.09
HEZ A H 0.10 0.10 0.11
226 8FAATHRERE TKER 11 0.11 0.12 011 |6A13H
8F 6—54—2 A B 0.10 0.10 0.11
HEZ A H 0.09 0.08 0.08
227|&8FtTHREER ma7k 0.10 0.11 011 |6A13H
BF 7—48—1 bi5 0.11 0.11 0.12
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HEZ A H 0.11 0.12 0.12
[RiZH R 0.12 0.13 0.12
228\ FHK R & 8EE % 0.10 0.11 011 |6A13H
&F 8—6—6 ABEAYO 0.12 0.11 0.11
[RiZH R 0.12 0.10 0.11
bi5 0.09 0.09 0.09
G558 0.11 0.11 0.11
229|RREAIR B E [RiZH R 0.08 0.08 0.09 |5H30H
XE 1—34—19 Rk 4 0.09 0.09 0.07
bi5 0.06 0.07 0.06
HEZ A H 0.09 0.09 0.11
20| KE=THREEE NEFPR 0.17 0.18 0.10 |5A30H
XE 3—31—15 HEZ A H 0.11 0.12 0.14
kL 0.14 0.11 0.13
Rk 4 0.13 0.13 0.13
B KXKE=THBERE#* NEFPR 0.04 0.05 006 |5A30H
KE3—8-3 HEZ A H 0.04 0.05 0.05
22| KEETEHRERE NEFPR 0.07 0.08 0.08 |5A30H
XB5—17—6 kL 0.10 0.10 0.16
HEZ A H 0.09 0.09 0.09
Rk 4 0.10 0.11 0.11
2B KEATHREER [RiZH R 0.12 0.13 0.13 |5A28H
KB 6—2—3 bi5 0.13 0.10 0.12
R7K#t (R EE) 0.14 0.18 0.19
LRI 0.12 0.13 0.15
24| KEATEE-REMHE |(Li5hR 0.08 0.08 0.08 |[5H28H
XE 6—15—5 i Z A (R P8) 0.13 0.14 0.15
mZk#(AL) 0.09 0.10 0.09
;LA 0.12 0.13 0.16
235|RKEREHE [RiZH R 0.12 0.14 0.16 |5H28H
KE7—24—-16 8 Z A A(IE) 0.14 0.13 0.13
7K (AL 3R) 0.12 0.13 0.12
236| F R RE IEE [RiZH R 0.10 0.09 009 |5A28H
XE 8—19—12 bi5 0.08 0.08 0.08
Ru 7K #(F) 0.12 0.12 0.13
AFIoDIRT 0.11 0.11 0.10
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237 B—TESEZ REEER |hR 0.04 0.05 006 |6A18H
LF1— 3—17 bi5 0.10 0.11 0.11
HEZ A A () 0.11 0.11 0.12
RI7K#(78) 0.09 0.08 0.09
238\t —T B REEE IR0 0.08 0.10 0.10 |5A23H
e#s 1—15—13 bi5 0.10 0.10 0.09
A A (FAE) 0.09 0.10 0.12
Rk #t (AL EE) 0.10 0.10 0.10
239 =TEHREEE R 0.08 0.09 0.10 |6A20H
LF3— 5—17 bi5 0.09 0.10 0.10
fEZ A (F) 0.12 0.12 0.14
mu7k#t (78) 0.09 0.09 0.10
240/t T B RERE R 0.08 0.09 008 |6A18H
b4 —12—11 fEZ A (AE) 0.09 0.08 0.09
Ru7k#t () 0.10 0.10 0.09
241 &g REER R 3R 0.08 0.09 009 |6A18H
defb4—22—30 bi5 0.08 0.08 0.09
fEZAH (R) 0.09 0.08 0.10
kL 0.11 0.11 0.11
RI7K# () 0.10 0.10 0.10
22|t TEEZRERE |(di 0.10 0.10 0.10 |6A20H
LFb4—28—9 bi5 0.09 0.11 0.10
HEZ A H () 0.10 0.10 0.11
mu7k#t (7)) 0.09 0.09 0.08
243|#,/\\RE iz E NEPR 0.11 0.09 011 |5A29H
LFr 6—16—12 bi5 0.10 0.10 0.11
HEZ A H 0.10 0.11 0.11
kL 0.10 0.11 0.11
Rk 4 0.11 0.12 0.15
244/ttt T B RERE R 0.09 0.09 0.10 |6A20H
L#7— 2—30 bi5 0.08 0.09 0.08
HEZ A F () 0.08 0.09 0.11
Ru7k#t () 0.12 0.12 0.13
245N LLIREER R 0.10 0.11 009 |6A20H
tFh7—6—2 HEZ A H (F) 0.11 0.11 0.12
246t T B RIRE EE R 0.10 0.10 009 |6A20H
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L#p7—6—51 HEZ A H (BR) 0.14 0.15 0.16
muzk#t (4E) 0.11 0.12 0.12
247wt T B REEE R 0.11 0.11 012 |6A20H
L#7—6—57 HEZAH (ALE) 0.13 0.14 0.15
FsK#t (dL7a) 0.10 0.10 0.10
248 | &lE SF AR E iz E NEFPR 0.11 0.10 009 |5A29H
BiY1—5-3 & Z A A 0.11 0.11 0.12
Rk ¥4 0.12 0.10 0.12
2|’ =THREEER NEFPR 0.08 0.08 011 |5A29H
B’E 3—12—7 15 0.09 0.08 0.08
HEZ A H 0.10 0.10 0.15
Rk 4 0.11 0.10 0.11
20| RM=TEHE-_RE#E |ABEPR 0.09 0.10 011 |5H29H
B’ 3—19—5 HEZ AP 0.08 0.10 0.14
Rk 4 0.11 0.11 0.11
251K AETHRERE NEFPR 0.10 0.10 011 |5A29H
B’E 5— 4—10 15 0.08 0.08 0.07
HEZ A H 0.09 0.11 0.13
Rk 4 0.11 0.11 0.12
2R AETEHE_RERE |ABEPR 0.09 0.08 0.10 |5H29H
B’E 5—12—15 15 0.10 0.12 0.12
HEZ A H 0.08 0.09 0.10
Rk 4 0.08 0.08 0.09
253\ —TERERE [RiZHI0 0.07 0.08 0.08 |5A23H
i 1— 4—25 & A (78) 0.09 0.09 0.09
bi5 0.07 0.08 0.08
mu7K#t (F) 0.08 0.08 0.10
254| BB R E HE R0 0.09 0.10 011 |5A23H
iy 1—21—12 fEA A (ALEE) 0.09 0.09 0.09
;LRI 0.10 0.11 0.19
255\ Ryt THIREER [RiZH R 0.07 0.08 0.08 |5A29H
B’E 7— 5—17 WAAAH (F) 0.08 0.09 0.10
bi5 0.07 0.07 0.06
BEokiE(E) 0.08 0.09 0.10
256\ =T B RERE [RiZH R 0.07 0.09 0.10 |5A29H
B3 —1—5 WEARAH () 0.12 0.13 0.13
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BeskiEAL) 0.11 0.11 0.11

257|Fib—TERERE [RiZH R 0.09 0.10 0.11 |5A28H

T —7—27 HEZAA (dE) 0.11 0.12 0.13

FsK#t (dL7a) 0.12 0.12 0.12

;{08 |

258| K B7— 163 U5 [RiEH R 0.06 0.06 007 |5A28H
15 0.08 0.08 0.08
8 Z A A (FAR) 0.11 0.14 0.16
Ru7K #(78) 0.08 0.07 0.07
LRI 0.12 0.11 0.11

259| K B7—43:E U5 [RiZHh R 0.10 0.12 012 |5A28H
HEZ A A (F) 0.10 0.11 0.12

260|#%)1l 1— 258U 15 A0 0.07 0.08 008 |[6A11H
NEPR 0.08 0.07 0.08
HEZ A H 0.09 0.09 0.09

261(18;K 2— 1138 U5 R 0.09 0.11 012 |7H28
Rk 4 0.09 0.09 0.09
HEZ A H 0.09 0.09 0.10

262| K B8 —21:E N5 [RiZH R 0.11 0.10 0.13 |5A28H
15 0.12 0.12 0.12
Rk #(78) 0.11 0.12 0.12

263|ERE1-8% 215U  |[Fkk 0.08 0.09 009 |6H11H
g (AEFR) 0.07 0.07 0.07
HEZ A H 0.09 0.09 0.08

264|dbfb4 —36:E U5 R 0.07 0.08 009 |6A18H
HEZAH (R) 0.09 0.10 0.11

265|dtib4— 7iEU IS R 0.07 0.06 005 |6A20H
muzk#t (7)) 0.09 0.09 0.08

266|[RE 1— 15 U15 NEFPR 0.09 0.10 009 |(6A11H
HEZ A H 0.07 0.07 0.08

267|5k X 2— 9EUNIG R 0.08 0.09 008 |5A28H
Rk 4 0.08 0.08 0.07

268| [ RBEVE KI5 kL 0.07 0.07 008 |7H3H

REB1—10 PR(TIUR) 0.06 0.07 0.08

R (Z) 0.07 0.07 0.08
HEZ A H 0.05 0.06 0.07
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KAD#ELBE
269(dt+RIKIBDESE 8F3—-36% 0.06 0.05 005 |5A23H
EF3TH*%: EHERR 0.11 0.10 0.14
270| &+ RENKDDESE IRiT2-15% 0.04 0.05 0.05 |6H15H
RiI2~KB52% EFI2-13% 0.07 0.09 0.08
KE2-2-% 0.06 0.06 0.07
KBE1-2% 0.06 0.06 0.07
271 | ¥+ LR E Y 5 &F2TH% 0.06 0.06 0.10 |5H23H
&F2 3TEB*% &F3THE%: 0.07 0.07 0.09
272|/INE RN KD D ESE A RS AE D 0.06 0.06 0.06 |5H28H
WER(ER—T B D 0.05 0.06 0.06
BERGTRETEAD 0.06 0.07 0.07
WER(ERET B D 0.05 0.06 0.06
R ER (AL Bb5 —20) 0.07 0.09 0.08 |5H31H|&MmBES
i Z A A(ALEYS5—20) 0.11 0.11 0.10
AR ER (LFP6-18) 0.10 0.13 0.14
fEZ A A (ALhb6-18) 0.13 0.14 0.13
HERERCRED2-14) 0.06 0.06 0.06
AR ERCR D 2-15) 0.13 0.15 0.17
HEZ A A (FRED2-15) 0.13 0.14 0.14
BERE(KE4-1) 0.08 0.08 0.08
HEZ A A (K B4-1) 0.11 0.11 0.12
A ERER(K §5-53) 0.10 0.09 0.12
$E Z3A H(K B5-53) 0.12 0.13 0.16
EERER(KE9-1) 0.07 0.08 0.10
HEZ A A (K E9-1) 0.13 0.15 0.18
HEZ A A (K E9-1) 0.13 0.16 0.16
HEZ A A (K E9-1) 0.14 0.15 0.15
273| K#ENKDDESE LiR|FTETEA- @R 0.07 0.08 0.08 |5H24H
RI-THBEA- &R 0.09 0.10 0.11
HAIET B - & 0.05 0.06 0.09
BE—T B Al- &g 0.06 0.06 0.07
FEoaT BAl- & 0.05 0.05 0.06
FE—TEA- &g 0.06 0.07 0.08
RiZUT B - & 0.07 0.07 0.09
KENKDOESE TR [&E& (ALED 0.06 0.06 0.06 |5H28H
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[Figa:il 1 E1m |#2_E50cm| #h_E5cm

A % (F ) 0.07 0.07 0.04
HA2—-11% 0.08 0.09 012 | 7828 |EmaAES
HA3—-14% 0.06 0.07 0.08
R M 0.06 0.06 0.07

274U E SN KDL DERSE EER(RIZMT B 4D 0.07 0.08 0.08 |[5H28H
BERCEEIT B 4D 0.07 0.07 0.08
1 R (& K48 0.07 0.06 0.06
EIRCEEH—T B D 0.05 0.06 0.07
BERCERI—T BED 0.07 0.08 0.09

275|F ANKB DO E S8 e HAA GERR) 0.08 0.08 0.09 |6H28H
LA (FEZAH) 0.08 0.08 0.08
deEa{El GERg) 0.06 0.06 0.06
LEEE (HEZ A H) 0.09 0.10 0.11
A P {8 GERR) 0.08 0.08 0.08
rafEE (FEZ A H) 0.10 0.11 0.12
A SRR G RE) 0.08 0.08 0.08
R (HEZ A H) 0.07 0.07 0.08

276| KBNTEX)IKIDOE S E [ERGEEE =T B 4D 0.06 0.06 0.06 |[5H28H
BBUEEZTBAED 0.08 0.09 0.09
BRUEE—TBAED 0.06 0.07 0.08
BERCKHEZTBAED 0.08 0.09 0.10

AR O#LBE

277|4 RER R D RS B A B (KR156-2) 0.09 0.10 0.10 |[5830H
% (RFE1-1) 0.06 0.07 0.07
A REAL) T Rt 0.05 0.04 0.05
AP (R51-21) 0.07 0.08 0.08
1 % (R F52-3) 0.08 0.09 0.10
S (FrEY1-3m) 0.08 0.09 0.09
P (15 7K2-28) 0.09 0.09 0.08
P (157K2-29) 0.09 0.09 0.09
AP (15K2-22) 0.07 0.08 0.07
AP (157K2-10) 0.10 0.10 0.10
P (15 K2-9) 0.08 0.07 0.07

278|RE A - R BTE AR D ARS8 |/ \ AR A4S 0.06 0.05 007 |[6A13H

R1-1 BHEh R 0.06 0.07 0.07

T RAE A 0.06 0.06 0.07
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279|[RE - B ETER A D E S8 | LA 0.06 0.06 007 |6H13H
RB1-5~1-6 S EHh R 0.06 0.07 0.08
RE & 0.07 0.06 0.08
280| REER IR DS E RE#&ERI(L) 0.09 0.09 0.09 |(6A13H
RE2-7 RE#ER (F) 0.07 0.07 0.08
BHEhR (L) 0.07 0.08 0.10
BHERR(TF) 0.08 0.08 0.08
EE3574 (L) 0.08 0.07 0.08
EE35748(TF) 0.05 0.06 0.09
281|349 RER R D RS E [EafiR 0.08 0.10 010 |7A28
b izl il 0.07 0.10 0.12
A6 B 1 0.09 0.10 0.11
L 0.09 0.10 0.11
282| 2 ME R IR D RS B FH A& 0.07 0.08 0.10 |(6813H
2M4-9~4-10 #1257 5 0.06 0.07 0.08
URER Tt 41 0.08 0.09 0.10
2M3-6~3-7 ZUMERI(E) 0.08 0.11 0.12
ZUMERICT) 0.07 0.08 0.09
BHEhR (L) 0.09 0.08 0.09
BHERR(TF) 0.08 0.07 0.10
AR (E) 0.07 0.06 0.08
AR () 0.07 0.08 0.08
BIn-1 S E 0.08 0.09 0.11
2 ISl 0.09 0.08 0.10
#BIN1-9~1-10 2 ISl 0.06 0.06 0.07
Xi#;I063 5 0.08 0.08 0.11
Xi#;T0485 0.07 0.08 0.11
283| REE A DRSS E S Eh R 0.06 0.07 009 |(6813H
2 M5-6
284| T AER R DS E 7 75 {1 B 0.08 0.07 008 |7H17H
e BRI 3 B 0.07 0.08 0.08
1t 78 {88 B 0.08 0.08 0.08
At B4R B 0.06 0.06 0.08
X EREF
285| RERREE EEPR 0.06 0.06 0.06 |5H28H
REB2—9—35 FIsKk#t (HAD) 0.08 0.07 0.06
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EERA 0.08 0.08 0.11
286\ HERREREE EEPRR 0.07 0.07 0.08 |[5H28H
HiP4—20—17 mu7k#t (78) 0.07 0.07 0.07
F9tE TRk #t () 0.05 0.06 0.07
287|ZDEXRER EERR 0.04 0.04 0.04 |5H28H
ZNE1—1-2 muzk#t (7)) 0.04 0.04 0.04
EERA 0.06 0.06 0.05
288|# D) AU ILIEER SRE(BERRE) 0.05 0.06 0.07 |5H28H
BR1—1 VYA ILEERT (P RTE) | 0.04 0.05 0.06
HERBE - AT (RE - #EABZEL) | 0.05 0.06 0.05
HAEE wbET (L - #EEHY) [ 0.05 0.06 0.07
sk #t (GEA D) 0.07 0.08 0.09
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